
Pedrali SpA - www.pedrali.it - info@pedrali.it Pedrali SpA - www.pedrali.it - info@pedrali.it 1/4

IS
TR

_T
O

A_
W

O
RK

ST
AT

IO
N

_T
O

A3
S_

20
23

.0

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

4/4

IS
TR

_T
O

A_
W

O
RK

ST
AT

IO
N

_T
O

A3
S_

20
23

.0

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

1

2

M6X6
(x4)

3

EN -         Position the top on a smooth, scratch-resistant surface. 
Place the legs (1) on the top (2), fix them with the screws provided (3,4).
IT -          Posizionare il ripiano su una superficie liscia e antigraffio.
Posizionare le gambe (1) sul ripiano (2), fissarle mediante le viti in dotazione (3,4).
DE -         Stellen Sie das Regal auf eine glatte, kratzfeste Oberfläche. 
Positionieren Sie die Beine (1) auf der Tischplatte (2), befestigen Sie diese mit den mitgelieferten Schrauben (3,4).
FR -          Positionner le plateau sur une surface lisse et anti-rayures.
Positionner les pieds (1) sur le plateau (2), les fixer à l'aide des vis fournies (3,4).
ES -          Poner el sobre de mesa en una superficie lisa y antirayas.
Colocar las patas (1) en el sobre de mesa (2), fijarlas con los tornillos provistos (3,4).

Toa workstation
TOA3S_159X150
DESIGN
Robin Rizzini

INSTRUCTIONS
Istruzioni - Gebrauchsanweisungen - Instructions - Instrucciones

M6X8
(x8)

3

EN - Place cable manage-
ments (7) on the table top 
and fix them by means of 
screws (8).
IT - Posizionare le canaline 
(7) sul ripiano e fissarle 
mediante le viti (8).
DE - Legen Sie die 
Kabelführungen (7) auf die 
Tischplatte und befestigen 
Sie sie mit den Schrauben 
(8).
FR - Positionner les systeme 
pour le passage des cables 
(7) sur le plateau et les fixer 
avec des vis fournies (8).
ES - Colocar las bandejas de 
electrificación (7) en el sobre 
de mesa  y fíjelas con 
tornillos (8).

7M6X6
(x16)

8

A

2 mm - 0.08”

3.5 mm - 0.14” EN -       Smaller radius in correspondence with the table top.
IT -         Raggio minore in corrispondenza del ripiano.
DE -       Kleinerer Radius in Übereinstimmung mit der 
Tischplatte.
FR -       Rayon plus petit en correspondance avec le plateau 
de la table.
ES -        Radio más pequeño en correspondencia con el 
sobre de la mesa.

5

6

M6X40
(x12)

EN -         Insert the tube cover square insert (5) into the crossbars as shown in figure (A) with a  rubber mallet and tighten the screws (6).
IT -           Inserire i copritesta quadri (5) nelle traverse come indicato nella figura (A) utilizzando una mazzetta gommata e avvitare le viti 
(6). 
DE -          Setzen Sie den Vierkant-Einsatz (5) des Rohrdeckels wie in Abbildung (A) gezeigt mit einem Gummihammer in die Querstreben
 ein und ziehen Sie die Schrauben (6) fes
FR -          Insérez les les inserts carrés (5) dans les traverses comme indiqué sur la figure (A) avec un maillet en caoutchouc et serrez les vis 
(6). 
ES -          Introduzca los insertos cuadrados  (5) en los travesaños como se muestra en la figura (A)con un mazo de goma y apriete los 
tornillos (6)

5



Pedrali SpA - www.pedrali.it - info@pedrali.it Pedrali SpA - www.pedrali.it - info@pedrali.it2/4

IS
TR

_T
O

A_
W

O
RK

ST
AT

IO
N

_T
O

A3
S_

20
23

.0

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

3/4

IS
TR

_T
O

A_
W

O
RK

ST
AT

IO
N

_T
O

A3
S_

20
23

.0

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

Toa workstation
TOA3S_300X150
DESIGN
Robin Rizzini

INSTRUCTIONS
Istruzioni - Gebrauchsanweisungen - Instructions - Instrucciones

M6X8
(x12)

M6X6
(x6)

1

2
3

4

EN -         Position the top on a smooth, scratch-resistant surface. 
Place the legs (1) on the top (2), fix them with the screws provided (3,4).
IT -          Posizionare il ripiano su una superficie liscia e antigraffio.
Posizionare le gambe (1) sul ripiano (2), fissarle mediante le viti in dotazione (3,4).
DE -         Stellen Sie das Regal auf eine glatte, kratzfeste Oberfläche. 
Positionieren Sie die Beine (1) auf der Tischplatte (2), befestigen Sie diese mit den mitgelieferten Schrauben (3,4).
FR -          Positionner le plateau sur une surface lisse et anti-rayures.
Positionner les pieds (1) sur le plateau (2), les fixer à l'aide des vis fournies (3,4).
ES -          Poner el sobre de mesa en una superficie lisa y antirayas.
Colocar las patas (1) en el sobre de mesa (2), fijarlas con los tornillos provistos (3,4).

7

M6X6
(x8)

8

5

EN - Place the cable managements (7) on the table top and fix them by means of screws (8).
IT - Posizionare la canalina (7) sul ripiano e fissarla mediante le viti (8).
DE - Legen Sie die Kabelführungen (7) auf die Tischplatte und befestigen Sie sie mit den Schrauben (8).
FR - Positionner le systeme pour le passage des cables (7) sur le plateau et les fixer avec des vis fournies (8).
ES - Colocar la bandeja de electrificación (7) en el sobre de mesa  y fíjelas con tornillos (8).

5

EN -         Insert the tube cover square insert (5) into the crossbars as shown in figure (A) with a  rubber mallet and tighten the screws (6).
IT -           Inserire i copritesta quadri (5) nelle traverse come indicato nella figura (A) utilizzando una mazzetta gommata e avvitare le viti (6). 
DE -          Setzen Sie den Vierkant-Einsatz (5) des Rohrdeckels wie in Abbildung (A) gezeigt mit einem Gummihammer in die Querstreben
 ein und ziehen Sie die Schrauben (6) fes
FR -          Insérez les les inserts carrés (5) dans les traverses comme indiqué sur la figure (A) avec un maillet en caoutchouc et serrez les vis (6). 
ES -          Introduzca los insertos cuadrados  (5) en los travesaños como se muestra en la figura (A)con un mazo de goma y apriete los 
tornillos (6). 

A

2 mm - 0.08”

3.5 mm - 0.14” EN -       Smaller radius in correspondence with the table top.
IT -         Raggio minore in corrispondenza del ripiano.
DE -       Kleinerer Radius in Übereinstimmung mit der 
Tischplatte.
FR -       Rayon plus petit en correspondance avec le plateau 
de la table.
ES -        Radio más pequeño en correspondencia con el 
sobre de la mesa.

6
M6X40

(x8)


